
 
Find a closed form: 

𝛀 = ∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Exodo Halcalias-Angola 

∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙

𝟏

𝟎

= ∫
𝒙𝟐 𝐥𝐧(𝒙)

𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑
𝒅𝒙 +

𝟏

𝟒
∫

𝒍𝒏𝟐(√𝒙)

𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑

𝟏

𝟎

𝟏

𝟎

𝒅𝒙 = 

∫
(𝟏 − 𝒙)𝒙𝟐 𝐥𝐧(𝒙)

(𝟏 − 𝒙)(𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑)
𝒅𝒙 +

𝟏

𝟒

𝟏

𝟎

∫
(𝟏 − 𝒙)𝒍𝒏𝟐(√𝒙)

(𝟏 − 𝒙)(𝟏 + 𝒙 + 𝒙𝟐 + 𝒙𝟑)
𝒅𝒙 =

𝟏

𝟎

 

∫
(𝟏 − 𝒙)𝒙𝟐 𝐥𝐧(𝒙)

𝟏 − 𝒙𝟒
𝒅𝒙 +

𝟏

𝟒
∫

(𝟏 − 𝒙)𝒍𝒏𝟐(√𝒙)

𝟏 − 𝒙𝟒
𝒅𝒙 =

𝟏

𝟏𝟔
(∫

𝒙
𝟑
𝟒
−𝟏𝐥𝐧⁡(𝒙)

𝟏 − 𝒙
𝒅𝒙 −∫

𝐥𝐧⁡(𝒙)

𝟏 − 𝒙
𝒅𝒙) +

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐𝟓𝟔
(∫

𝒙
𝟏
𝟒
−𝟏𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙 − ∫

𝒙
𝟏
𝟐
−𝟏𝒍𝒏𝟐(𝒙)

𝟏 − 𝒙
𝒅𝒙)

𝟏

𝟎

𝟏

𝟎

 

{∴ ∫
𝒛𝒏−𝟏𝒍𝒏𝒌(𝒛)

𝟏 − 𝒛
𝒅𝒛 = −𝝍(𝒌)(𝒏),⩝ 𝒌 ∈ 𝑵

𝟏

𝟎

} 

=
𝟏

𝟏𝟔
(−𝝍(𝟏) (

𝟑

𝟒
) + 𝝍(𝟏)(𝟏)) +

𝟏

𝟐𝟓𝟔
(−𝝍(𝟐) (

𝟏

𝟒
) + 𝝍(𝟐) (

𝟏

𝟐
)) 

{∴ 𝝍(𝒌)(𝒏) = (−𝟏)𝒌+𝟏𝜞(𝒌 + 𝟏)⁡𝜻(𝒌 + 𝟏, 𝒏)} 

=
𝟏

𝟏𝟔
(−(𝝅𝟐 − 𝟖𝑮) +

𝝅𝟐

𝟔
) +

𝟏

𝟐𝟓𝟔
(−(−𝟐𝝅𝟑 − 𝟓𝟔𝜻(𝟑))− 𝟏𝟒𝜻(𝟑)) 

=
𝟏

𝟏𝟔
(𝟖𝑮−

𝟓𝝅𝟐

𝟔
) +

𝟏

𝟐𝟓𝟔
(𝟒𝟐𝜻(𝟑) + 𝟐𝝅𝟑) 

∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 =

𝑮

𝟐
+
𝟐𝟏𝜻(𝟑)

𝟏𝟐𝟖

𝟏

𝟎

+
𝝅𝟑

𝟏𝟐𝟖
−
𝟓𝝅𝟐

𝟗𝟔
 

Solution 2 by Cosghun Memmedov-Azerbaijan 

Ω = ∫
𝒙𝟐 𝐥𝐧(𝒙) + 𝒍𝒏𝟐(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 = ∫

𝒙𝟐 𝐥𝐧(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 +∫

𝐥𝐧⁡(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 = Ω𝟏 +

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

Ω𝟐 



 

Ω𝟏 = ∫
𝒙𝟐 𝐥𝐧(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 =

𝟏

𝟐
∫

𝒙𝒍𝒏(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 +

𝟏

𝟐
∫

𝐥𝐧⁡(𝒙)

𝒙 + 𝟏
𝒅𝒙 =

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟐
∑(−𝟏)𝒏∫ 𝒙𝟐𝒏+𝟏 𝐥𝐧(𝒙)𝒅𝒙 −

𝟏

𝟐
∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒙𝟐𝒏 𝐥𝐧(𝒙)𝒅𝒙 +
𝟏

𝟐
∑(−𝟏)𝒏∫ 𝒙⁡𝒏 𝐥𝐧(𝒙)𝒅𝒙 =

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟎

 

−
𝟏

𝟐
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟐)𝟐

∞

𝒏=𝟎

+
𝟏

𝟐
∑

(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟐
−
𝟏

𝟐
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟎

∞

𝒏=𝟎

=
𝑮

𝟐
−
𝟓

𝟖
𝜼(𝟐) =

𝑮

𝟐
−
𝟓𝝅𝟐

𝟗𝟔
 

Ω𝟐 = ∫
𝐥𝐧⁡(√𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 =

𝟏

𝟒
∫

𝐥𝐧⁡(𝒙)

(𝒙 + 𝟏)(𝒙𝟐 + 𝟏)
𝒅𝒙 =

𝟏

𝟖
∫

𝒍𝒏𝟐(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 −

𝟏

𝟖
∫

𝒙𝒍𝒏𝟐(𝒙)

𝒙𝟐 + 𝟏
𝒅𝒙 +

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

 

𝟏

𝟖
∫

𝒍𝒏𝟐(𝒙)

𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟖
∑(−𝟏)𝒏
∞

𝒏=𝟎

∫ 𝒙𝟐𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙−
𝟏

𝟖
∑(−𝟏)𝒏∫ 𝒙⁡𝟐𝒏+𝟏 𝐥𝐧(𝒙)𝒅𝒙 +

𝟏

𝟎

∞

𝒏=𝟏

𝟏

𝟎

 

𝟏

𝟖
∑(−𝟏)𝒏∫ 𝒙⁡𝒏𝒍𝒏𝟐(𝒙)𝒅𝒙 =

𝟏

𝟒

𝟏

𝟎

∞

𝒏=𝟏

∑
(−𝟏)𝒏

(𝟐𝒏 + 𝟏)𝟑
−

𝟏

𝟑𝟐
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
+
𝟏

𝟒
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
=

∞

𝒏=𝟎

∞

𝒏=𝟎

∞

𝒏=𝟎

 

=
𝟏

𝟒
⁡.⁡⁡
𝝅𝟑

𝟑𝟐
+

𝟕

𝟑𝟐
⁡.
𝟑

𝟒
𝜻(𝟑) =

𝝅𝟑

𝟏𝟐𝟖
+

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) 

Ω = Ω𝟏 +Ω𝟐 =
𝑮

𝟐
+

𝝅𝟑

𝟏𝟐𝟖
+

𝟐𝟏

𝟏𝟐𝟖
𝜻(𝟑) −

𝟓𝝅𝟐

𝟗𝟔
 

 

 


